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Roll No. ...................................  

D–3013 

 B. Com. (Part I) EXAMINATION, 2020 

(Old Course) 

(Group&I : Accounting) 

Paper First  

FINANCIAL ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- iqLrikyu ,oa ys[kkdeZ esa D;k vUrj gS \ ys[kkadu ds mís’;ksa dh 
foospuk dhft,A 
What is the difference between Book-keeping and 
Accounting ? Discuss the objectives of the accounting. 

vFkok 
(Or) 

Jh jes’k dh iqLrdksa esa vxzfyf[kr O;ogkjksa dh tuZy ¼iath½ izfof”V;k¡ 
nhft, % 
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2019 
vizSy 

 

1 jes’k us ` 50]000 udn jkf’k] ` 5]000 QuhZpj ,oa  

` 20]000 ds eky ls O;kikj izkjEHk fd;kA 

2 cSad esa pkyw [kkrk [kksyk vkSj cSad esa tek fd;k  

` 10]000A 

4 lksgu ls ` 10]000 dk eky [kjhnkA 

5 jru dks ` 8]000 ewY; dk eky 5% O;kikfjd dVkSrh rFkk 

1% udn dVkSrh ij cspk vkSj mlus ¼jru½ 50% jkf’k udn 

Hkqxrku dhA  

7 egs’k ls 20% O;kikfjd dVkSrh ij ` 4]000 dk eky [kjhnkA 

8 [kjkc gksus ds dkj.k egs’k dks ` 700 lwph ewY; dk eky 

ykSVk;kA 

10 eq¶r uewuksa ds :i esa eky forfjr fd;k ` 250A 

12 pSd }kjk ` 1]000 chek izhfe;e pqdk;kA 

15 ‘kadj dks ` 3]000 ewY; ds eky ds fy, vkns’k fn;kA 

20 lksgu dks iw.kZ Hkqxrku esa ` 9]920 pqdk,A 

25 ` 8]000 ykxr dk eky vkx }kjk u”V gks x;k fdUrq chek 

da- us nkos ds :i esa dsoy ` 5]000 gh Lohdr̀ fd, gSaA nkok 

jkf’k vizkIr gSA 

27 ,d fe= ds fookg ds volj ij ` 501 HksaV fn,A 

30 osru Hkqxrku fd;k ` 2]500 rFkk ` 500 osru nsuk ckdh gSA 
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Journalise the following transactions in the books of Mr. 
Ramesh : 

2019 
April 

 

1 Ramesh commenced business with ` 50]000 cash,  

` 5,000 furniture and goods worth ` 20,000.  

2 Opened current account and deposited into bank  

` 10,000. 

4 Purchased goods from Sohan ` 10,000. 

5 Goods worth ` 8,000 sold to Ratan at 5% Trade 

discount and 1% Cash discount. He (Ratan) paid 

50% amount in cash. 

7 Purchased goods from Mahesh at a list price of  

` 4,000 at 20% trade discount. 

8 Returned goods of a list price of ` 700 to Mahesh as 

it was defective. 

10 Goods distributed by way of free samples of  

` 250. 

12 Paid insurance premium by cheque of ` 1,000. 

15 Sent an order of ` 3,000 goods to Shankar. 

20 Paid ` 9,920 to Sohan in full settlement. 

25 Goods costing ` 8,000 was destroyed by fire, but the 

insurance co. admitted a claim of ` 5,000 only. 

Claim amount not received.  

27 Give ` 501 as a gift to a friend on the occasion of his 

marriage. 

30 Salary paid ` 2,500 and outstanding salary ` 500. 
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bdkbZ&2 
(UNIT—2) 

2- ßryiV ‘kq)rk dk fuf’pr izek.k ugha gSAÞ O;k[;k dhft,A mu lHkh 
xyfr;ksa dh foospuk dhft, tks ryiV ds feyus ds ckotwn jg 
ldrh gSaA 
“Trial Balance is not a conclusive proof of accuracy.” 
Explain. Discuss the errors that may exist even though the 
trial balance agrees. 

vFkok 
(Or) 

vt; ds fuEukafdr ryiV ls O;kikj [kkrk] ykHk&gkfu [kkrk ,oa fpëk 
cukb;s % 

fpëk 
¼31 ekpZ] 2019 dks½ 

fodyu ‘ks”k jkf’k ¼`½ 

nsunkj 5,000 

e’khujh 2,000 

vafre jgfr;k 6,000 

Hkou 4,900 

etnwjh 800 

osru 300 

fofo/k O;; 1,000 

fcØs gq, eky dh ykxr 19,000 

jksdM+ 6,000 

 45,000 
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lekdyu ‘ks”k jkf’k ¼`½ 

iw¡th 9,500 

v’kks/; _.k izko/kku 2,800 

ysunkj 2,400 

vnŸk osru 300 

fcØh 30,000 

 45,000 

lek;kstuk,¡ % 

Hkou ij kl 10%] nsunkjksa ij v’kks/; _.k ds fy, izko/kku 10%] 
nsunkjksa esa ` 2]000 Lo;a vt; }kjk ns; ‘kkfey gS rFkk ysunkjksa esa Hkh 
vt; dks ns; ` 1]000 ‘kkfey gSaA 

From the following Trial Balance of Ajay, prepare Trading 
A/c, Profit & Loss A/c and Balance Sheet : 

Balance Sheet 

(As on 31st March, 2019) 

Debit Balances 
Amount 

(`) 

Debtors 5,000 
Machinery 2,000 
Closing Stock 6,000 
Buildings 4,900 
Wages 800 
Salary 300 
Sundry Expenses 1,000 
Cost of Goods Sold 19,000 
Cash 6,000 

 45,000 
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Credit Balances 
Amount 

(`) 

Capital 9,500 

Provision for Bad Debts 2,800 

Creditors 2,400 

Outstanding Salary 300 

Sales 30,000 

 45,000 

Adjustments : 

Depreciation of Building at 10%, Provision for Bad debts at 

10% on debtors, Debtors include ` 2,000 receivable from 

Ajay and also creditors includeds ` 1,000 payable to Ajay. 

bdkbZ&3 

(UNIT—3) 

3- izkfIr&Hkqxrku [kkrk ,oa vk;&O;; [kkrk dh izeq[k fo’ks”krk,¡ le>kb,A 

bu [kkrksa dks dkSu rS;kj djrk gS vkSj D;ksa \ 

Discuss the main characteristics of Receipts and Payments 

Account and Income and Expenditure Account. Who 

prepares these accounts and why ? 

vFkok 

(Or) 

,d dEiuh us] ftldk ys[kk o”kZ foŸkh; o”kZ gS] us 1 tqykbZ] 2016 dks 

` 45]000 ykxr dh ,d e’khujh [kjhnhA blus fQj 1 tuojh] 2017 
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dks ` 30]000 ykxr dh rFkk 1 vDVwcj] 2017 dks ` 15]000 ykxr 

dh vkSj e’khujh [kjhnhA 

1 vizSy] 2018 dks ml e’khujh dk ,d&frgkbZ Hkkx] ftls 1 tqykbZ] 

2016 dks yxk;k Fkk] vizpfyr gks x;k vkSj mls ` 5]000 esa csp fn;k 

x;kA  

dEiuh dh iqLrdksa esa e’khujh [kkrk cukb,A e’khu ij fu;r fdLr 

i)fr ds vuqlkj 10% izfro”kZ dh nj ls kl dkVk tkrk gSA  

1 vizSy] 2019 dks e’khujh [kkrk dk D;k ‘ks”k gksxk \ 

A company whose accounting year is the financial year, 

purchased on 1st July, 2016, a machinery costing ` 45,000.  

It purchased further machinery on 1st January, 2017,  

costing ` 30,000 and on 1st October, 2017, costing  

` 15,000. 

On 1st April, 2018 one-third of the machinery which was 

installed on 1st July, 2016, became obsolete and its was sold 

for ` 5,000. 

Show the Machinery Account in the books of the company, 

it being given that the machinery was depreciated by the 

fixed instalment method at 10% per annum.  

What will be the balance in Machinery Account on 1st April, 

2019 ? 

bdkbZ&4 
(UNIT—4) 

4- 1 vizSy] 2015 dks nqxZ ds vuqt dEI;wVlZ us jk;iqj ds vfuy ,.M 

lUl dks ,d dEI;wVj fdjk;k&fd’r i)fr ds vk/kkj ij cspkA  
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` 8]000 lqiqnZxh ds le; ns fn;s x, vkSj mlds ckn 1 vizSy ls rhu 

lky ds fy, ` 8]000 dk okf”kZd Hkqxrku fd;k x;kA okf”kZd Hkqxrku 

esa 4% C;kt ‘kkfey gSA 

` 1 dh okf”kZdh dk 3 o”kZ ds fy, 4% dh nj ls orZeku ewY;  

` 2-7751 gSA  

vuqt dEI;wVlZ ¼foØsrk½ dh iqLrdksa esa iath izfof”V;k¡ dhft,A 

On 1st April, 2015 Anuj Computers, Durg sold to Anil & 
Sons, Raipur a computer on Hire Purchase system. ` 8,000 
being paid on delivery and ` 8,000 in annual payments 
thereafter on 1st April for 3 years. The annual payment 
included the interest chargeable at 4%. 

Present value of ` 1 per annum for 3 years at 4% is  
` 2.7751.  

Show journal entries in the books of Anuj Computers 
(Vendor). 

vFkok 

(Or) 

‘kk[kk [kkrs j[kus ds D;k mís’; gksrs gSa \ vkfJr ‘kk[kk vkSj Lora= 
‘kk[kk esa vUrj Li”V dhft,A 

What are the objective having Branch Accounts ? 
Distinguish between dependent branch and independent 
branch. 

bdkbZ&5 
(UNIT—5) 

5- lk>snkjh lays[k D;k gS \ lk>snkjh lays[k ds vHkko esa lk>snkjksa ds 
e/; mRiUu fooknksa dk fuiVkjk fdl izdkj fd;k tk,xk \ 

What is Partnership Deed ? How the matters will be settled 

among the partners in absence of partnership deed ? 
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vFkok 
(Or) 

X, Y  rFkk Z  ,d QeZ esa lk>snkj gSa vkSj os 2 % 2 % 1 ds vuqikr 
esa ykHk&gkfu dk foHkktu djrs gSaA 31 ekpZ] 2019 dks mudk fpëk 
fuEukafdr gS % 

fpëk 
¼31 ekpZ] 2019 dks½ 

nkf;Ro 
jkf’k  
(`) 

ysunkj 20,000 

lap; dks”k 25,000 

iw¡th %                                      `  

                         X 50,000  

                        Y 20,000  

                         Z 10,000 80,000 

  1,25,000 

 

lEifŸk;k¡ 
jkf’k  
(`) 

jksdM+ 25,000 

fofo/k nsunkj 20,000 

LdU/k 25,000 

VkbijkbVj 10,000 

la;a= 45,000 

 1,25,000 
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mUgksaus QeZ ds fOk?kVu dk fu.kZ; fd;kA lEifŸk;ksa dh olwyh ls 
fuEufyf[kr jkf’k;k¡ izkIr gqb± % 
la;a=            ` 42]500 
VkbijkbVj      ` 7]500 
LdU/k      ` 35]000 
fofo/k nsunkj     ` 18]500 
ysunkjksa us 2% cêk fn;kA X leLr olwyh O;;ksa dks ogu djus dks 

rS;kj gks x;kA blds fy, X dks ` 600 fn;s x,A olwyh ds 

okLrfod O;; ` 950 gq,A ,d ` 2]500 dh lEifŸk vfyf[kr gSA og 

Y us ` 2]000 esa ys yhA 

QeZ dh iqLrdksa dks can djus ds fy, vko’;d [kkrs cukb,A 

X, Y and Z are partners in a firm sharing profit and losses in 

the ratio of 2 : 2 : 1. Their Balance Sheet as on 31st March, 

2019 is as follows : 

Balance Sheet 

(as on 31st March, 2019) 

Liabilities  
Amount 

(`) 

Creditors 20,000 

Reserve Fund 25,000 

Capital :                                                         `  

                        X 50,000  

                       Y 20,000  

                        Z 10,000 80,000 

  1,25,000 
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Assets 
Amount 

(`) 

Cash 25,000 

Sundry Debtors 20,000 

Stock 25,000 

Typewriters 10,000 

Plant 45,000 

 1,25,000 

They decided to dissolve the firm. The following are the 

amounts realised : 

Plant     ` 42,500 

Typewriter   `   7,500 

 Stock     ` 35,000  

Sundry Debtors  ` 18,500 

Creditors are allowed a discount of 2% and X is agreed to 

bear all realisation expenses for this service. X is paid  

` 600. Actual expenses amounted to ` 950. There is an 

unrecorded asset of ` 2,500 which is taken over by Y at  

` 2,000. 

Prepare the necessary accounts to close the book of the firm. 
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